

City of Ketchum

April 4, 2022

Mayor Bradshaw and City Councilors City of Ketchum Ketchum, Idaho 83340

Mayor Bradshaw and City Councilors:

Recommendation to Approve Purchase Order #22077 for Audio Equipment

Recommendation and Summary

Staff is recommending City Council approve Purchase Order #22077 with Performance Audio LLC to purchase audio equipment for Ketch'em Alive.

"I move to approve Purchase Order #22077 for \$28,558.18 with Performance Audio LLC.

Introduction and History

The city requested bids for the purchase of audio equipment to be used at the city's event, Ketch'em Alive. The attached bid includes all equipment necessary for the event. Staff received a second bid that did not include all items and at least one vendor declined to bid.

Last year, the city paid \$8,800 to rent sound equipment for Ketch'em Alive. In 2019, the city paid \$7,200. With costs increasing year over year, staff recommends the city purchase its own sound system for this event.

Financial Impact

Due to Local Option Tax funds performing better than budgeted, payment for this purchase will come from the LOT fund balance.

Attachments

- Purchase Order #22077
- Performance Audio Quote W414774



CITY OF KETCHUM PO BOX 2315 * 480 EAST AVE. * KETCHUM, ID 83340 Administration 208-726-3841 (fax) 208-726-8234

PURCHASE ORDER BUDGETED ITEM? ____Yes ____No

PURCHASE ORDER - NUMBER: 22077

То:	Ship to:
4997 PERFORMANCE AUDIO LLC 2456 SOUTH WEST TEMPLE SALT LAKE CITY UT 84115	CITY OF KETCHUM PO BOX 2315 KETCHUM ID 83340

P. O. Date	Created By	Requested By	Department	Req Number	Terms
03/31/2022	bancona	bancona		0	

Quantity	Description		Unit Price	Total
1.00	AUDIO SYSTEM EQUIPMENT	22-2710-0000	28,558.18	28,558.18
				0.00
			SHIPPING & HANDLING	0.00
			TOTAL PO AMOUNT	28,558.18



www.performanceaudio.com

GENERAL THEATRICAL SUPPLY C (801) 485-5012

www.gtsmarketplace.com

2456 South West Temple, Salt Lake City, UT 84115 Fax (801) 484-1538 Toll-Free Nationwide (800) 771-8330

QUOTE

W414774

Invoice Date: 03/17/2022 15:32 Customer ID: C120358 Ship Via: Ground

BILL TO CITY OF KETCHUM JIM SLANETZ PO BOX 2315 480 EAST AVE. N. KETCHUM, ID 83340 SHIP TO **CITY OF KETCHUM** JIM SLANETZ PO BOX 2315 480 EAST AVE. N. KETCHUM, ID 83340

BILL TO: (208) 720-9491

SHIP TO: (208) 720-9491

# SKU		QTY	UNIT	PRICE	EXT	ТАХ
1 KM 213	36701455	2		129.99	259.98	N
DISTA	NCE ROD					
2 AH QU	24C	1		2799.99	2799.99	Ν
24 CH/	ANNEL DIGITAL, 24 MIC/LINE + 3 STEREO, 1	00MM MOTORIZED				
3 TPLINK	(AC1750	1		74.99	74.99	N
SMAR	T WIFI ROUTER DUAL BAND GIGABIT WIREL	ESS INTERNET ROU	ITER			
4 HOS H	MX006Y	1		21.70	21.70	N
PRO S	TEREO BREAKOUT, REAN 3.5MM TRS TO D	UAL XLR3M, 6 FT				
5 HOS H	MR006Y	1		18.85	18.85	Ν
PRO S	TEREO BREAKOUT, REAN 3.5MM TRS TO D	UAL RCA, 6 FT				
6 KM 259	00050055	4		97.99	391.96	N
MICRC	PHONE STAND					
7 ATL MS	S10CE	2		54.99	109.98	N
ALL-Pl	JRPOSE MIC STAND EBONY					
B ADX DI	27	1		999.00	999.00	N
DRUM	KIT, PKG OF 7, 1-I5 2-D2,1-D4,1-D6,					
ADX AI	DX51	2		249.00	498.00	N
MIC, C	OND, ELECTRET CARD, BASSROLLOFF					
10 SEN E6	609SILVER	3		99.95	299.85	N
INSTR	UMENT MICROPHONE (SUPERCARDIOID, D	YNAMIC) FOR GUITA	R AM			
11 SHU SI	M57LC	3		99.00	297.00	N
CARDI	OID DYNAMIC					
12 SHU SI	M58LC	6		99.00	594.00	N
CARDI	OID DYNAMIC					
13 WW IM	2	4		64.00	256.00	N
DIREC	T BOX - IMP2, WHIRLWIND TRHL TRANSFO	RMER				
14 PA GS	620RED	2		35.48	70.96	N
20' INS	TRUMENT CABLE, S-S, RED WITH CORD-LO	ЭХ				
	620GRN	1		35.48	35.48	N

#	SKU	QTY	UNIT PRICE	EXT	ΤΑΧ
	20' INSTRUMENT CABLE, S-S, GREEN WITH CORD-LOX				
16	CBI DROP12120025 12CH DROP SNAKE 25FT	1	240.38	240.38	Ν
17	CBI DROP8080025 8CH. DROP SNAKE 25FT	1	198.00	198.00	N
18	EV EKX15PUS EKX-15P POWERED 15" 2-WAY SPEAKER	1	899.00	899.00	N
19	EV EKX12PUS EKX-12P POWERED 12" 2-WAY SPEAKER	10	799.00	7990.00	N
20	EV EKX18SPUS EKX-18SP POWERED 18" SUBWOOFER	4	1199.00	4796.00	N
21	GAT GTOURQU24 ATA WOOD FLIGHT CASE FOR ALLEN& HEATH QU24 MIXI	1 NG CONSOLE W	. 749.99	749.99	N
22	HOS HMP006Y PRO STEREO BREAKOUT, REAN 3.5MM TRS TO DUAL 1/4	1 IN TS, 6 FT	. 16.55	16.55	N
23	KM 2109050055 MICROPHONE STAND	8	101.99	815.92	N
24	EV EKX15CVR PADDED COVER FOR EKX-15 AND 15P, EV LOGO	1	59.00	59.00	N
25	EV EKX12CVR PADDED COVER FOR EKX-12 AND 12P, EV LOGO	10	49.00	490.00	N
26	EV EKX18SCVR PADDED COVER FOR EKX-18S AND 18SP, EV LOGO	4	69.00	276.00	N
27	ULT TS80B ORIGINAL SPEAKER STAND - BLACK	2	129.99	259.98	N
28	HOR NM16 6 FT LO-Z MIC XLRF/XLRM	10	15.60	156.00	N
29	HOR NM110 10 FT LO-Z MIC XLRF/XLRM	12	17.07	204.84	N
30	HOR NM125 25 FT LO-Z MIC XLRF/XLRM	20	19.70	394.00	N
31	HOR NM150 50 FT LO-Z MIC XLRF/XLRM	4	27.10	108.40	N
32	HOR NM1100 100FT LO-Z MIC XLRF/XLRM	3	49.85	149.55	N
33	FUR SS6B 15A AC SURGE STRIP 6 OUTLET 2X3 BLOCK, METAL CHAS	4 SSIS. 15 FT	. 51.42	205.68	N
34	MSI D16528025 BLACK 25 FT 14/3 POWER CORD	4	19.99	79.96	N
35	MSI D16528050 BLACK 50 FT 14/3 POWER CORD	4	38.99	155.96	N
36	MSI D16528100 BLACK 100 FT 14/3 POWER CORD	4	79.99	319.96	N
37	HOS PDX430 POWER DISTRIBUTION CORD, 6 X NEMA 5-15R TO NEMA	1 5-15P, 30 FT	. 108.29	108.29	N

#	SKU	QTY	UNIT	PRICE	EXT T	AX
38	HOS PDX250 POWER DISTRIBUTION CORD, 6 X NEMA 5-15R TO	1 D NEMA 5-15P, 50 F ⁻	Г	189.18	189.18	Ν
39	MSI D18511000YW POWER DISTRIBUTION BOX	1		649.99	649.99	Ν
40	QUOTE 100' Temporary Power Cord 6/3-8/1 STW 50A	1		770.00	770.00	N
41	QUOTE 50' Temporary Power Cord 6/3-8/1 STW 50A	1		426.63	426.63	Ν
42	PF CROSS30 CROSS 3 BLACK BASE, ORANGE LID	5		185.84	929.20	Ν
43	KM 2410500055 MOUNTING FORK	2		95.99	191.98	Ν

	NUMBER OF ITEMS: 1	55.00		SUBTOTAL		28,558.18
DLARSON@PERFORMANCEAUDIO.CO	DM					
	FREIGHT	TAX		DEPOSIT		TOTAL
SALESPERSON: DAVID			0.00		0.00	28,558.18
ALL RETURNS MUST BE M	ADE WITHIN 14 DAYS					
I hereby agree that interest unpaid balances over 30 da costs incurred by collecting	iys. I also agree to pay al					